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A client packet 1s received by a server. The packet has a
destination port number of 53. What service 1s the client
requesting?

(A) DNS (B) NetBIOS (NetBT) (C) POP3 (D) IMAP

T A e K AR i 2

(A) IP = (B) IPgd (C) e >l e (D) mF ¥4

T 3R T IR P pk endkit e ‘ﬁ%;ﬁ’?Q

(A) 0.0.0.0 #7%ppe (B) 255.0.0.0 #_Class C gl

(C) 192.168. X. X %7 # NAT (D) 255.255.255.2565 £+ R 451 #73 A
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You plan to map a network drive from several computers that run
Windows 10 to Azure Storage.

You need to create a storage solution in Azure for the planned
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mapped drive.
What should you create?
(A) an Azure SQL database (B) a virtual machine data disk
(C) a File service in a storage account (D) a Blob service in
a storage account
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(A) 255.255.0.0 (B) 255.255.224.0
(C) 255.255.240.0 (D) 255.255.248.0
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$exbdp £ 75 ( Cross-Site Scripting, XSS) sk 2iRF » £ & 444
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Linux¥ windows e} AF B 3 B > 2 & 3% i A-daemon?
(A) bind (B) shard (C) nmbd (D) smbd
sendmail ® # 4 A F IR 2oz ey §_ ¢
(A) /var/mail/ (B) /var/spool/mail/ ©)
/var/mail/deliver/
(D) /var/spool/mqueue/
B >tdgei= % ¥ (Digital Signature) - T Al T3, E A ?
(A) &% 3 2B &4 #2234 (Public Key Infrastructure, PKI)
(B) & & p+ 24k (Public Key) e (C) 244 (Public key) % 7 %
Ex *‘ﬁ 5 i chiic i G ¥ (Certificate Authority, CA) i
(D) ¥ 2% ElGamal /& &2 k9 k=& %
What service is provided by Internet Messenger?
(A) An application that allows real-time chatting among remote
users.
(B) Allows remote access to network devices and servers.
(C) Resolves domain names, such as cisco.com, into IP addresses.
(D) Uses encryption to provide secure remote access to network
devices and servers.
#DHCP* = =33 s [P FR > g AT SR 89
(A) DHCPDiscover  (B) DHCPRequest
(C) DHCPNack (D) DHCPDecline
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What characteristic describes a DoS attack?

(A) the use of stolen credentials to access private data

(B) a network device that filters access and traffic coming into
a network

(C) software that is installed on a user device and collects
information about the user

(D) an attack that slows or crashes a device or network service
Your company plans to move several servers to Azure.

The company’ s compliance policy states that a server named
FinServer must be on a separate network segment.

You are evaluating which Azure services can be used to meet the
compliance policy requirements.

Which Azure solution should you recommend?

(A) a resource group for FinServer and another resource group for
all the other servers

(B) a virtual network for FinServer and another virtual network
for all the other servers

(C) a VPN for FinServer and a virtual network gateway for each
other server

(D) one resource group for all the servers and a resource lock
for FinServer
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(A) IPV3  (B) IPV4  (C) IPV5S (D) IPV6

Tl A R AR A e ICMP 3L L 7

(A) Echo Reply (B) Destination Unreachable

(C) Redirect (D) Source Quench
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(A) arp.exe (B) netstat.exe (C) ping.exe (D) tracert.exe
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(A) DHCP (B) DNS (C) ARP (D) HTTP
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A company has a file server that shares a folder named Public.
The network security policy specifies that the Public folder is
assigned Read-Only rights to anyone who can log into the server
while the Edit rights are assigned only to the network admin
group. Which component is addressed in the AAA network service
framework?
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(A) automation (B) accounting

(C) authentication (D) authorization
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